



$$\boxed{\psi_0(x) = A \cdot x e^{-\frac{2}{a}x}}$$

$$4) a) \int |\psi_0(x)|^2 dx = 1 \Rightarrow |A|^2 \int x^2 e^{-\frac{4x}{a}} dx = 1 \Rightarrow |A|^2 \times \frac{2}{\left(\frac{4}{a}\right)^3} = 1$$

$$\Rightarrow |A|^2 = \frac{64}{a^3} \times \frac{1}{2} = \frac{32}{a^3} \Rightarrow |A| = \sqrt{\frac{32}{a^3}}$$

$$\boxed{\psi_0(x) = \sqrt{\frac{32}{a^3}} x e^{-\frac{2}{a}x}}$$

$$b) \langle \bar{x} \rangle_{\psi_0} = \int_0^{\infty} x |\psi_0(x)|^2 dx = |A|^2 \int_0^{\infty} x^3 e^{-\frac{4x}{a}} dx =$$

$$\langle \bar{x} \rangle_{\psi_0} = |A|^2 \times \frac{3!}{\left(\frac{4}{a}\right)^4} = \frac{2 \cdot 32}{a^3} \cdot \frac{6}{16 \times 16 \cdot 8} = \boxed{a \times \frac{3}{4}}$$

$$c) p = \frac{\hbar}{i} \frac{\partial}{\partial x} \Rightarrow p \psi_0(x) = \frac{\hbar}{i} x \left( \frac{1}{x} - \frac{2}{a} \right) \psi_0(x)$$

$$\langle p \rangle_{\psi_0} = \int \psi_0^* p \psi_0 dx = \frac{\hbar}{i} \int \left( \frac{1}{x} - \frac{2}{a} \right) |\psi_0(x)|^2 dx =$$

$$\frac{\hbar}{i} \int \left( \frac{1}{x} - \frac{2}{a} \right) x^2 e^{-\frac{4x}{a}} dx = \frac{\hbar}{i} \left[ \int x e^{-\frac{4x}{a}} dx - \frac{2}{a} \int x^2 e^{-\frac{4x}{a}} dx \right]$$

$$= \frac{\hbar}{i} \left[ \frac{1}{\left(\frac{4}{a}\right)^2} - \frac{2}{a} \times \frac{2}{\left(\frac{4}{a}\right)^3} \right] = \frac{\hbar}{i} \left[ \frac{a^2}{16} - a^2 \times \frac{4}{4^3} \right] = \boxed{0} \text{ logique}$$